Addition Horizontale de Décimaux (B)

Calculez chaque somme.

6082,10 + 121,1897 = 75,720 4 8,803 =
596,8813 4 424,2 = 6487,0561 + 6,0547 =
83,91 + 5,6003 = 339,240 4 3,2146 =
2198,08 + 186,275 = 9037,57 4 34,0083 =
783,1 + 5,47 = 894,65+ 5,5 =
508,04 + 41,6634 = 686,84 + 4,2 =
7327,7 + 83,156 = 57,268 + 51,280 =
43,64 + 1,954 = 903,477 4 3,1703 =
490,27 + 98,5 = 85,0484 4 58,77 =
650,2 + 21,1191 = 76,05 + 26,2 =
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Addition Horizontale de Décimaux (B) Réponses

Calculez chaque somme.

6082,10 + 121,1897 = 6203,2897 75,720 + 8,803 = 84,523
596,8813 + 424,2 = 1021,0813 6487,0561 + 6,0547 = 6493,1108
83,91 + 5,6003 = 89,5103 339,240 + 3,2146 = 342,4546
2198,08 + 186,275 = 2384,355 9037,57 + 34,0083 = 9071,5783
783,1 + 5,47 = 788,57 894,65 + 5,5 = 900,15

508,04 + 41,6634 = 549,7034 686,84 + 4,2 = 691,04

7327,7 4 83,156 = 7410,856 57,268 + 51,280 = 108,548
43,64 + 1,954 = 45,594 903,477 + 3,1703 = 906,6473
490,27 + 98,5 = 588,77 85,0484 + 58,77 = 143,8184
650,2 + 21,1191 = 671,3191 76,05 + 26,2 = 102,25
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